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Duration: 3 Hoypg

Q.1. (a)Di Maximum Marks: 75
1. (@) Discuss the Processtobef S
Initial Public Offering, Obefollowed by companiesin raising money thro(lgl;%h
Ans. : See para 1.5
(5) Distinguish between Bond and Equity as investment alternative @)
Ans. : See para 1.5
OR

(@) Stock exchange plays an indispensible role in Indian economy: Com-
ment @®)

Ans. : See para 2.2

(b) What is speculation? Point out difference between investment and

speculation with example. (7
Ans. : See para 1.3
02. (a) The return on securities X and Y under situations are given below:
Probability Security X Security Y e
- 0.25 15 20
J ‘;_:___ 0.40 18 22
B 035 — 25
- "ndreturn and risk associated with the security. )
/R /R [ PR, | PR | PR.Ry P(R/R,)’
| 15 | 20 3.75 5 2.18 1.63
L 18 | 22 [ 72 8.8 0.001 0.121
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P, Rx R, P Ry P, R, P'(Rx- x) ’ P I(RY-RY)z
0.35 20 25 1 8.75 1.47 2.1
17.95 22.55 3.651 3.851

Expected Return

E(R,) =XPRy= 17.95%
E(R)=2PRy= 22.55%
Risk |

6y =YP(Ry—Ry)' = J3.651 =1.91%

o, = SP(Ry - Ry)* =+/3.851 =1.96%

Since the expected return of the two securities is not equal, we ¢
standard deviation to compare their risk. We would rather use 2
measure of risk, ie., Coefficient of Variation to draw meaning

SONS.i I GUISIR RN 251 I adl
Coefficient of Variation I 2t
vy 1) e e |
CMigmtamgm=0.1061 2 (IUP U1
EREN.96" ¢
Clrgires s 207

Hence Security Y is preferred as it has lower Coefficient of variatio
security X. It has lower risk per unit of return generated.

(b) Discuss Candle and Stick Chart.
Ans. : See para 5.3 (iv)

1

CIITLE

OR
(a) Define risk. D.istingu.ilgh»‘betwcen{, Systematic and Uhsystematic risk. (7]
Ans. : See para 1.8 : - X :
(b) The following pamcularsjrelatedto Mutual Fund are given to you: ®
Particulars , ;
y 'Magu;iment Adﬁ'sory Fees
g tration Expege__s (inglyqﬁllipg 'Funfl;_Ma}nagpr ‘ .

ation) i

and documentation
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=Rs. 275 lakhs + Rs. 350 lakhs + Rs. 80 lakhs = Rs. 705 lakhs or 7.05 crores
Average assets = (Opening NAV+ Closing NAV)/2

= (Rs.108 crore + Rs.170 crore)/2 =Rs.139 crore

Expenses
Fis Ratlo Average assets under management

= Z05crore 4, 5079

139 crore ’

Q.3. (@) What is Exit Load? How does it affect return to the investors? (7)

* Ans.: Seeparas 7.2, 7.4 (iv)

: (b) Following information is available in respect of a Mutual Fund:  (8)
48) Particulars Amount (in Rupees) ’
| 6% Debentures 10,00,000 |
9% Government Bonds 9,00,000 !
L Equity Capital (50,000 equity shares of Rs. 100 each) 50,00,000 l
[ 69,00,000 |

Total
uri g the year, the mutual fund received dividends of Rs. 10,00,000 on
shares, interest on debentures and bonds were received. Operating
penses incurred during the year were Rs. 6,00,000. What would be the
V of the mutual fund?
Cash balance at the end of the period

| 10,00,000 |

dends received

income:
‘ernment Bonds

60,000
81,000

! 11,41,000
‘ 6,00,000
5,41,000

Calculation of NAV

R e e —
Rs. 5,41,000

gach , Rs. 50,00,000
T Rs. 10,00,000
‘ B Rs. 9,00,000
B Rs. 74,41 000
R 10,00,000

_Rs. 7.441 per uniy

At
A
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OR
What is CRISIL mutual fund ranking? Discuss various parameters copg
dered for ranking along with suitable example. (1)

Ans. : Seeparas 7.7, 7.7.1 :
What do you mean by futures? Which produpts are avaﬂab}e for trading
futures in India? Explain in brief how valuation of futures is done. (15

Ans. : See paras 8.4, 8.4.2,10.2,11.3

Q.4.

OR
(a) What are commodity derivatives? Explain with examples. ‘v
Ans. : See paras 10.2, 10.4, 10.5
(b) Write a note on ‘types of options’. 8
Ans. : See para 8.5.1
Q.5. Write short notes on any three of the following: (15
i NSE '

ii. Limit Order

ii. P/E ratio

iv. Open ended mutual funds
Ans. : See paras 2.3 (ii), 3.4.2, 4.3.1 (c), 6.6 part 1
ate of a compar
. H ial Statemt

Scanned with CamScanner



